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. All questions carry equal marks.

. Only one answer is to be given for cach question. If more than

one answers are marked, it would be trested ns wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet. When you
are directed 1o open the Question Booklct, take out the Answer Sheet
and fill in the particulars carefully with Blae Ball Point Pen only.

5. Please correctly fill your Roll Number in OMR Answer Sheet.
Candidate will themself be responsible for filling wrong Roll No.

6. 1/3 part of the mark(s) of each question will be deducted
for each wrong suswer, A Wrong unawer means an incorrect
answer or more than one answers for any question,

7. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet ming BLUE BALL POINT PEN.

%. If you are not sttempiing a question then you have to darken
the cirele *5', If none of the five circles Is darkened,
one third (1/3) part of the marks of question shall be deducted.

8.* Afier solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, s provided for this.

10. A candidate who has not darkened any of the five circles
In more than 10% gquestions, shall be disqualified.

11, 1f there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindl and English Versions of the
question, the English Version will be treated as standord,

12. Mobile Phone or any other electronic gadget in the examination
hall is strictly prohibited. A candidate found with any of such
ohjectionable material with him/her will be strictly dealr as per rules.

Warning : If s candidate |s found copying or if any unsuthorized

material is found in hissher possession, FLR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Exnminstion (Measures for

Prevention of Unfair Means in Recrultment) Act, 1011 &

any other laws applicable snd Commission's Rules-

Regulations, Commission may also debar him'her permanently

from all future examinations,
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(3) WEIRH
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(6) g W

(2) 91T 114(2)
(4) 494

(1)
(2)
(3)

6.

2

Which of the following sections
describes ‘Special Resolution’ as per
the Companies Act, 2013 ?

(1) Section 116(2)
(2) Section 114(2)
(3) Section 3

(4) Section 4

(6) Question not attede

‘Book building process’ ru related
with

(1) Invenmry control
(2) Internal audit

(3) Winding up

(4) Issue of securities
(6) Question not attempted

Official Liquidator appointed under
which section of the Companies Act,

Lo H

O
D

2013 ?
(1) 8561(1) (2) 359(1)
(3) 361(2) (4) 369(2)

(6) Question not att&mptad

Securities Premium Aﬂtnunt can

not be used for

(1) Payment of dividend™

(2) Writing off preliminary
expenses

(3) The purchase of its own shares

(4) Issue of unissued shares of a

(5)

company
Question not attempted

Shrimanji decided to convert his sole

proprietorship jewellery business into

one man company, one m&n company

is not required to prepare ="

Profit and Loss Accmﬂlt

gash flow s}_&éﬂmgﬁ

tatement of chan 1
Balance Sheet Py
Question not attempted

At the time of winding up,
shareholders of the company are
knownas___

(1) Creditors

(2) Contributories

(3) Creditholders

(4) Legal heirs

(6) Question not attempted
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1.

The minute books of general
meetings shall be preserved
(1) for8years (2) for5 years
(3) for 3 vears (4) permanently
(5) Question not attempted

According to the Factories Act,
1948, certifying surgeons are
appointed by

(1) State Government

(2) Employer

(3) Political party

(4) Workers

(6) Question not attempted

According to the Factories Act, 1948,

____does not mean Prime Mover.

(1) Wheel and Coupling

(2) Engine

(3) Motor

(4) Other appliance which

generates power
(6) Question not attempted

According to the Trade Union Act,
1926, creation of a puhtu:a_l fund hy
trade union is

(1) compulsory

(2) voluntary

(38) statutory

(4) 1illegal

(6) Question not attempted

According to the provisions of the
Factories Act, 1948, all doors and
windows which are of wooden or
metal shall be kept painted or
varnished at least once in every
period of

(1) 3 years (2) 5 years

(3) 17 years (4) 10 years

(5) Question not attempted

12. The report of Board of Directors

shall be signed by

(1) Atleast 5 Directors

(2) Chairperson (if he is
authorized by the Board)

(3) Any 4 key managing personnel

(4) Managing Director only

(6) Question not attempted
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13.

14‘

15.

16.

17.

What is the maximum term for
which an individual as an auditor
can be appointed in a company
under the Companies Act, 2013 ?
(1) 1year (2) 2 years

(3) 3 years (4) 5 years

(5) Question not attempted

What is a dividend ?

(1) The profit earned from the sale
of company assets

(2) A portion of company's profits
distributed to shareholders

(3) The interest paid on company

loans 4o

(4) The payment maﬂ!j}.'. to

suppliers for goods and

services B =

(6) Question not attampteq

According to the Consumer Pmteetmn

Act, which of the following is not

included as ‘Consumer’ ?

(1) A person who buys any goods
for a consideration.

(2) A person who buys a computer
system for perﬂﬂnal use.

(3) A person who receives medical

treatment in a guwl'.nment

hospital.

(4) A student who

services of a coaching
(5)

Question not attempted .
Which section of The Pay‘:ﬁéht of
Wages Act, 1936 covers deduction for
damage or loss ?

(1) Section 10 (2) Section 9
(3) Section12 (4) Section 7
(6) Question not attempted

]_'a&ewes
t.re.

According to the Factories Act,
1948, if in any factory where;nmure
than workers are ordinarily
employed, a canteen shall be
provided for the workers.

(1) 500 (2) 350

(3) 300 (4) 250

(5) Question not attempted-
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18.

19.

20.

21.

22.

A certificate of registration of a
Trade Union may be withdrawn or
cancelled by the
(1) Executive Officer

(2) Auditor

(3) Registrar

(4) Deputy Registrar

(5) Question not attempted

What is the minimum number of
trade union members required in
registering themselves as a union ?
(1) 7 (2) 10

@ b5 (4) 15

(5) Question not attempted

The failure, refusal or inability to
give employment due to shortage of
power or breakdown of machining is
called

(1) Lay-off

(2) Lock-out

(8) Strike

(4) Closure of institution

(6) Question not attempted

Rural marketing is concerned with
the flow of goods and services from
a. Urban to rural areas

b. Rural to urban areas

e.  Within rural areas

d. Within urban areas

(1) aandd (2) b,candd
(3) a,bandec (4) candd
(6) Question not attempted

According to the provisions of The
Payment of Wages Act, 1936, every
register and record related with
wages shall be preserved for a

period of

(1) 3 years (2) b5 years

(3) B years (4) permanently
o

(6) Question not attempted
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23.

24.

25.

26.

The concept of market
segmentation is the result of

(1) Modern marketing approach
(2) Modern production techniques
(3) Modern channels of distribution
(4) Modern pricing methods

(5) Question not attempted

Which of the following is an
example of demographic
segmentation of market ? ;

(1) Hyderabad Times o

(2) Men’s wear -

(3) Bread and Jam for hre*ikfast
(4) Stylish look

(5) Question not attemptaﬂf

': .

Which of the following is not a
characteristic of convenience

produets ?
(1) These have high unit price.
(2) Consumers do not have strong

brand loyalties for these
products.

(8) Generally consumers have
complete knowledge of ‘these
roducts. -~

(4) ese are gene not
affected by fashion.

(8) Question not attemp

Which of the following lir-hﬂt- a

correct statement 7

(1) All trademarks are not brands.

(2) Brand name can be copied.

(3) Trademark is a legal term.

(4) Brand includes any word or
group of words.

(5) Question not attempted

. Buying decision process st.aﬁ.s with

the

(1) Searching of mformatn:m
(2) Need recognition o
(3) Evaluation of aiternatﬂréq
(4) Brand image

(5) Question not attempted
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28.

29.

30.

31.

Which of the following is mnot
an element of ‘marketing
communication mix’ ?

(1) Advertising

(2) Personal selling

(3) Pricing

(4) Public Relations

(5) Question not attempted

‘Shipping Bill' is a

(1) Regulatory document

(2) Export assistance document
(3) Custom document

(4) Dock Challan

(5) Question not attempted

Consider the following statements :
A. International marketing is a
part of international business.

B. ‘Third country location’ is used
due to political reasons.

C. Strategic Alliance is made for
short term competitive profits
only.

Which of the above statements

is/are not correct ?

(1) Only A (2) A,BandC

(8) OnlyC (4 Aand B

() Question not attempted

‘DAGMAR Approach’ is related with
(1) Sales forecasting

(2) Advertising

(3) Pricing

(4) Market segmentation

(5) Question not attempted

The Break-Even-Point (in units) can
be calculated with the help of which
formula ?
Total Fixed Cost
(1) Selling Price per unit
Total Sales
. Profit per unit
Total Fixed Cost
P/V Ratio
Total Fixed Cost
Contribution
Question not attempted

2)

(3)

(4)
(5)
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(2)
(3)

(4)

(8)

33.

34.

35.

36.

Which of the following is not a
correct statement ?

(1) Market Research is wide term
in comparison to the
marketing research.

Sales Promotion Research is a
part of marketing research.
Marketing Research provides
golutions of marketing
problems.

Marketing Research is the
scientific study of entire
marketing activities.

(5) Question not attempted

(2)
(3)

(4)

Which of the following is an
example of psychological factor of
consumer behaviour ?

(1) Profession (2) Perception

(3) Age (4) Education

(5) Question not attempted

“A company sells a product or service
at two or more prices that do not
reflect a proportional difference in
costs” is known as

(1) Price Skimming

(2) Customer segment pricing

(3) Price discrimination

(4) Channel pricing

(6) Question not attempted

Which of the following is an

important feature of ‘polycentric

orientation’ ?

(1) It is based on the marketing
strategies of domestic market.

(2) Market segmentation is made

on the basis of country by

country.

Organizational system is

developed on the basis of

region by region.

Marketing  activities are

operated on the basis of global

approach.

Question not attempted

3)

(4)

()
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38.

39.

40.

41.

42
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37.

38.

39.

40.

] 41.

The sale of industrial products is

generally made with the help of

(1) Five level channels of
distribution.

(2) Direct selling channel of
distribution.

(8) Indirect selling channel of
distribution.

(4) Four level channels of

distribution,

(5) Question not attempted

Which concept of marketing pays
attention to the social, ethical and
ecological aspects of marketing ?

(1) Product concept

(2) Societal concept

(3) Selling concept

(4) Production concept

(5) Question not attempted

‘Grading’ is an important function of
marketing. It is the process of

(1) Inspection of products

(2) Evaluation of products

(8) Classification of products

(4) Standardization of products
(5) Question not attempted

Which of the following is not an
element of marketing mix ?
(1) Product (2) Price
(3) Publicity (4) Place
(5) Question not attempted

Generally, the sales promotion
techniques are useful in only

(1) mature markets

(2) new markets

(8) doubtful markets

(4) immature markets

(5) Question not attempted

A popular ‘Hair-cutting Saloon’ is
considered as a

(1) Speciality product

(2) Shopping product

(8) Convenience product

(4) Non-durable product

(5) Question not attempted
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43.

44,

45.

46.

|
|
|
Eﬁl‘-ﬁ.
|
|
|
|
|
|

In the context of ‘Sales Forecasting’,
which of the following statements is
not correct ?

(1) It is influenced by marketing
objectives.

It is concerned with predicting
future levels of demand:)

It is an exact science."' "

It considers envi ental
factors. o
Question not attempted

(2)

(3
(4)

(5)

Salesmanship is the ability to
change human desires into human

(1) character (2) necessities
(8) nature (4) mind
(6) Question not attempted

Professional salesmanship is based on
(1) Customer-oriented approach
(2) Producer-oriented approach
(3) Seller-oriented approagh
(4) Agent-oriented approsach
(5) Question not &ttamp@
A large sales organization is
required in case of
(1) High-priced goods
(2) Low-priced goods
(3) Industrial customers
(4) Technical customers
(5) Question not attempted

i N
Which of the following, is a
characteristic of Rural Consumer
Group ?
(1) Non-scattered market
(2) Higher purchasing power
(3) Higher per capita income
(4) Scattered market
(6) Question not attempted

¥
| ==
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48.

The ‘Penetration pricing method’ is
more successful, if

(1) the consumers are not price
sensitive,

(2) the consumers are price
sensitive.

(3) the product has a low elastic
market.

(4) the product has a zero elastic
market.

(5) Question not attempted

‘Promotional Discount’ is also
known as

(1) Cash discount

(2) Professional discount

(3) Trade discount

(4) Non-price discount

(6) Question not attempted

Professional observers who pose as
customers and interact with
company’s service personnel are
well known as

(1) Mpystery shoppers

(2) Secret agents

(3) Secret customers

(4) Analytical customers

(6) Question not attempted

Instalment offers, Discounts, Gifts
and free samples are parts of

(1) Advertising

(2) Integrated Advertising

(3) Sales Promotion

(4) Gorilla Advertising

(6) Question not attempted

Which of the following is not a merit
of ‘Line and Staff Sales
Organisation’ ?
(1) Staff provides advice for
plannings and policies.
(2) Expert services are available.
(3) Line executives can devote
more attention to the human
aspects of administration.
Decision-making is faster.
Question not attempted

(4)
(5)
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54.

55.

56.

57.

Assume that a serial on TV has a TRP
of 20 while the spot is aired at 8 am,
12 noon, 3 pm and 9 pm. The Gross

Rating Point (GRP) will be
(1) 20 (2) 04
(8) 40 (4) 80

(5) Question not attempted

A large intermediary with large
resources and territory is called as
(1) Broker

(2) Sole-selling ag‘ant P

(3) Sub-broker

(4) Commission agent )

(5) Question not attamﬁtecl

Which of the followings is not a task
to be handled by the government for

facilitating Global marketing ?

(1) Providing a conducive policy
package

(2) Improving the basic
infrastructure

(3) Effective norms fai' emplujree
appraisal

(4) Promotion of natmw a global
brand

(5) Question not attempffed

Which of the followings is not a

possible alternative while selecting
distribution channel in
international marketing ?

(1) Appointing a few selected
importers

(2) Tie-up with multinational
marketing firm Ch

(3) Negotiating with comsultant

(4) Going through an export house

(56) Question not attempued

Which of the fnllowmg is not the

part of media schedule ?

(1) Media vehicles

(2) Media category

(3) Media cost

(4) Programme choice

(5) Question not attempted
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58.

59.

60.

61.

Competitive parity, Affordability
and Adoptive control model are

directly related with

(1) Deciding the channel of
distribution.

(2) Deciding the pricing strategy.

(3) Deciding the Advertising
budget.

(4) Deciding the right time of

managing media.
Question not attempted

(5)

The quote “The Marketing Man is a
decider and an artist ...." was given
by whom ?

(1) James Culliton

(2) Truba Norm

(3) Philip Kotler

(4) Ruskin Bond

(6) Question not attempted

There are three kinds of
interpersonal influence, namely
value expressive influence,
utilitarian influence and

(1) Information influence

(2) Subjective influence

(3) Objective influence

(4) Attention seeking influence

(5) Question not attempted

While understanding the cultural

dynamics of the different markets of

the world which aspect can

be ignored by the managers of

the international marketing

department 7

(1) Geography of the location

(2) Language

(3) Nation's social and religious
heritage

(4) Value system

(6) Question not attempted
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62.

63.

64.

65.

66.

Tl

A personality trait associated with
the degree of rigidity contrary to
own beliefs is called as

(1) Consumer confidence

(2) Consumer optimism

(3) Consumer dogmatism

(4) Consumer failure

(5) Question not attempted

Customers who are both profitable
and loyal are known as :

(1) Butterflies (2) True friends
(3) Strangers (4) Barnacles
(6) Question not attempted

As per BCG (Boston Conﬂultmg
Group) ____ are low share business
units in high-growth msrketap y

(1) Star ™

(2) Cash Cow P
(3) Question mark

(4) Dog

(5) Question not attempted

A strategy for company growth by
increasing sales of existing products
in existing market segments
without changing the pm-d’:act is
known as

(1) Market penetration © 3

(2) Market development |

(3) Product development

(4) Diversification

(6) Question not attempted

Marketing research to test
hypotheses about cause and effect
relationship is known as

(1) Exploratory research

(2) Descriptive research
(3) Survey research cn
(4) Causal research -
(5) Question not att-empt-ed

Research has revealed! - that
optimum stimulation levels are
linked with

Greater willingness to take risks
Lower willingness to take risks
Greater transparency to sell
Lower transparency to buy
Question not attempted
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68.

70.

71.

7 -

72,
3

The product life-cycle stage in which
a product’s sales start climbing

quickly
(1) Introduction(2) Growth
(3) Maturity (4) Saturation

(5) Question not attempted

A distribution system in which a
single firm set up two or more
marketing channels to reach one or
more customer segments is known

as

(1) Multichannel
system

(2) Horizontal marketing system

(3) Vertical marketing system

(4) Franchise system

(5) Question not attempted

The major logistics functions include

warehousing, transportation,

logistics information management

and

(1)

(2)

(3)

distribution

Selling

Packaging

Inventory management
(4) Advertisement

(5) Question not attempted

Which of the following is an

example of social environment ?

(1) Money supply in the economy

(2) Consumer protection

(3) The Constitution of
country

(4) Composition of family

(5) Question not attempted

‘Threats to law and order’ is an

the

example of environment of
business.

(1) political (2) social

(3) economical (4) legal

(6) Question not attempted

Which of the following is not a stage
of new product development ?

(1) Idea screening

(2) Business analysis

(8) Product research

(4) Product development

(6) Question not attempted
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765.

76.

7.

may be defined as the
enhancement of long-term
shareholder value, while, at the
same time, protecting the interests
of other stakeholders.
(1) Business Ethics
(2) Cultural Relativism
(3) Corporate Social Responsibility
(4) Corporate governance
(5) Question not attempted

Which clause of SEBI deals with
complete guidelines for Corporate
Governance ?

(1) Clause 50 (2) Clause 49
(3) Clause 45 (4) Clause 20
(5) Question not attempted

The foundation of the contemporary
developments in the Corporate
Governance framework can be
traced back to the
(1) Greenbury Report

(2) Treadway Commission
(3) Sarbanes-Oxley Act

(4) Dodd-Frank Act

(5) Question not attempted

According to the guidelines of SEBI
for composition of Board of
Directors, how many independent
Directors, should be appointed
where the Chairperson is Non-
Executive Director ?

(1) At least half of the Board

(2) At least one-third of the Board
(3) At least two-third of the Board
(4) At least one-fourth of the Board
(5) Question not attempted

In the context of ‘Corporate

Governance’, which of the following

committee was set up by SEBI in

the year 2000 ?

(1) Naresh Chandra Committee

(2) N.R. Narayan Murthy
Committee

(3) Kumar Mangalam  Birla
Committee

(4) J.J.Irani Committee

(5) Question not attempted
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The provisions governing Corporate
Social Responsibility are covered
under section of Companies

Act, 2013,
(1) 130 (2) 185
(3) 148 (4) 153

(6) Question not attempted

Indian Companies, qualifying ‘for
CSR, have to mandatorily spen
least of their average
profits earned during immedia
preceding three financial yearsyen
CSR activities.

(1) 2% (2) 2.5%

(3) 3% (4) 5%

(6) Question not attempted

Not using organization's property

for personal purposes is an

application of business ethics of the
level.

(1) Individual

(2) Organizational

(3) Association

(4) Societal

(5) Question not attempted

703493

The concept of “Corporate Social
Responsibility” came into common
use after the introduction of the
concept in business.
(1) Share-holder
(2) Bond-holder
(3) Debenture-holder
(4) Stake-holder o)
(5) Question not attempted  wt
(o]
Archie Carroll organized different
corporate social responsibilities' &s

("u"’

L=

a(n) layered pyramid model.
(1) Four (2) Five
(3) Six (4) Eight

(6) Question not attempted
o
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85.

86.

I 87.

In the context of ‘Ethical Dilemmas’,
which of the following is not a
correct statement ?

societal

(1) These arise from

norms.

(2) These arise from religious
teachings.

(3) Personal friendship is not a
reason of ethical dilemmas.

(4) These are also known as moral
dilemmas.

(5) Question not attempted -

Which of the following m .'pnt

included in the cat.egnry'

‘Industrial Intellectual Propemqu"?

(1) Paintings

(2) Trademarks

(3) Geographic indications of source

(4) Patents

(5) Question not attempted

In the context of Intellectual Property

Rights’, which of the following is n-:::t a

correct statement ?

(1) These are intangible. H‘J
(2) Novels & Poems are 'f: not
included in artistic works:

(3) Photographs are traate& as
artistic works. )
(4) Intellectual property is

constantly evolving.
(5) Question not attempted
Find the related term of the
environmental dimension.

(1) Strengthening the
relationship between business
and society. P

(2) Describing CSR in tarrgal of
business operations.

(3) Protecting the n&l;lu'al
environment.

(4) Dealing  with craditara
employees, government,
shareholders, supplier,
customers etc.

(5) Question not attempted
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88.

89.

90.

| 91.
wieequt sifufay, 2002 & frg am ¥ |

92.

Yoga Sutra was written by .
(1) Kanad (2) Kapil

(3) Patanjali (4) Yogi

(5) Question not attempted

Which section of Water Act, 1974
deals with funections of Central
Board ?

(1) Section 16 (2) Section 14
(3) Section 13 (4) Section 18
(5) Question not attempted

According to the Competition Act,
2002, which of the following can be
included in the term of ‘Cartel’ ?

(1) The owners of oranges’
orchards from Nagpur, have
formed an association to limit
the supply of oranges.

The maize growers of Punjab
form a co-operative body to
help member farmers to take
their produce to market place.
The manufacturers of
umbrella parts of Rajasthan
form an association for welfare
of the members.

The suppliers of bananas form
an association to provide
transportation facilities to the
members.

Question not attempted

(2)

(3)

(4)

(5)

In which section of the Competition
Act 2002, the term ‘Consumer’ is
defined ?

(1) Section 2(a)

(2) Section 2(f)

(3) Section 2(c)

(4) Section 2(g)

(5) Question not attempted

Values are the beliefs that an
individual or organization thinks to

be true.
(1) Primary (2) Secondary
(3) Incidental (4) Ancillary

(6) Question not attempted
o
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95.
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Which of the following is not a

correct statement ?

(1) ‘Values' are the
principles of one’s life.

(2) ‘Ethics’ is a scientific study of
moral values.

(8) “Values’ are treated as Behefa

(4)

(5)

of a person.
Ethics is more often useﬂ to
denote rules of conduct. _
Question not attempted i
Which of the following is not
included in the ‘Principles of Indian
Ethos' ?
(1) Self sacrifice

(2) Holistic approach to life

(3) Know other people V)

(4) Service attitude o]

(5) Question not attempted

The concept of entrepreneuraﬁl';- as
an innovative function has'“been
revived by

(1) Peter F. Drucker

(2) dJoseph Schumpeter

(3) J.S. Mill

(4) RobertJ. Calvin

(5) Question not attempted

guiding

is most closely assopaated
with the high need for achlevament
concept of entrepreneurship.
(1) David C. McClelland
(2) Robert C. Ronstadt I~
(3) Donald Kuratko
(4) Robert J. Calvin
(5) Question not attempted

. According to the Competition Act

2002, which of the following is not

included in the definition of ‘Goods’ ?

(1) Debentures after allotment

(2) Shares after allotment

(3) Shares before allotment

(4) Every kind of movable
property

(5) Question not attempted
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98. Match the following lists :

99.

List-1I List - II
(a) Innovative (i) Lazy and
entrepreneur Shy
(b) Imitative (i1) Resist
entrepreneur changes
(¢) Fabian (111) Adopts
entrepreneur only
successful
innovation
(d) Drone (iv) Discovers
entrepreneur new
markets
Code:
(a) (b) (€ (d)
(1 @ (ii) (i)  (iv)
(2) (v) (iii) 3y i)
(3) (i) (1) (iv) (i)
(4) (v) (iii) ) @
(6) Question not attempted

Who has written that “Business is a
game of skills which everybody
cannot play.” ?

(1) Oscar Wilde

(2) Emerson

(3) John Case

(4) Peter F. Drucker

(5) Question not attempted

Which of the following is not a
correct statement 7

(1) Risk is the essential element of
entrepreneurship.
Entrepreneurship is primarily a
wealth producing task.
Entrepreneurship is a born
personality trait only.
Entrepreneurship is based on
principles not on intuition.
Question not attempted

(2)
(3)
(4)

(6)
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102.

103.

104.

%l l 105.

The annual turnover of a ‘Micro
enterprise’ should not be more than
(1) 5 crore rupees

(2) 50 crore rupees

(3) 150 crore rupees

(4) 250 crore rupees

(5) Question not attempted

In which year, the ‘Micro, Small
Medium Enterprise (MSME) *
has been enacted in India ?

;:. {

(1) 2015 (2) 2010
(3) 2006 (4) 2002
(6) Question not attempted .

Which of the following automation
of transaction is not included in ‘E-
commerce’ 7

(1) B2C (2) B2B
(3) AZE (4) C2C
(5) Question not attempted

In the context of ‘E-eummem@

which of the following is no{ra

correct statement ? oo

(1) It eliminates middlemen.

(2) It helps to reduce |the
operational cost.

(3) It gives focus on supply side.

(4) It gives focus on demand side.

(5) Question not attempted

Full form of acronym EFT is

(1) Electronic Funds Transfer

(2) Electric Funds Transfer

(3) Elective Funds Transfer ..,

(4) Educative Funds Transfer .,
(5) Question not attempted <

6. Which of the following is ndi: ‘a
correct statement 7
(1) Small businesses are lah-our
oriented.
(2) Small
dependent
resources,
The registration of
businesses is voluntary.
The managers are usually
cwners of small businesses.
Question not attempted

businesses
on

are
external

(3) small
(4)

(5)
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107.

1 uBI

109,

1 1“'

111.

HTML stands for :

(1) Hyper Text Mark-Up Language
(2) Hypo Text Mark-Up Language
(3) High Text Mark-Up Language
(4) Heap Text Mark-Up Language
(6) Question not attempted

In which ‘Architecture of E-
commerce’, Client (user) sends
request to server ?

(1) 2 Tier Architecture

(2) 3 Tier Architecture

(8) 4 Tier Architecture

(4) 5 Tier Architecture

(6) Question not attempted

Which of the following is not an

advantage of 3 Tier Architecture of

E-commerce ?

(1) Dynamic Load Balancing

(2) Clear separation of user
interface from Application

(3) Change Management

(4) Server Load Balancing

(6) Question not attempted

In the context of ‘Mobile Commerce’,
what is the full name or form of
PDA?

(1) Personal Digital Assistant

(2) Personal Direct Application
(3) Personal Dynamic Architecture
(4) Personal Devices Automation
(6) Question not attempted

Which of the following is not treated
as an ‘E-commerce Vendor' ?
(1) Warehouse operations
(2) Marketing and
Programmes
(3) Supply Chain Management
(4) Computers and Servers
(5) Question not attempted

Loyalty
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112. Which of the following is not a factor
affecting business ethics ?
(1) Guidelines of regulatory

authorities.

(2) Societal pressure
(3) Personal self-regulation
(4) Bilateral relation between
(5)

countries
Question not attempted
On the basis of degree of conflict of
principles involved, ethical
dilemmas may be classified into
______ ethical dilemma and ______
ethical dilemma,
(1) simple, multiple
(2) absolute, approximate
(8) personal, business
(4) prohibitory, obligatory
(6) Question not attempted
The first stage of resolving ethical
dilemmas is
(1) Analysis of the actions
(2) Analysis of variance
(3) Analysis of the consequences
(4) Making a decision
(5) Question not attempted

The individual faced with an ethical
dilemma is referred to as

(1) Principal (2) Agent
(3) Party (4) Stakeholder
(5) Question not attempted

113.

114.

116.

116. ___ refers to the right and wrong
behaviour of business decisions.

(1) Ethics

(2) Business Ethics

(3)
(4)
(5)

Principles
Values

Question not attempted
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117.

1131

119.

120.

Who cannot appear before
commission under CCI ?

(1) Regular Banking Officer

(2) Company Secretaries

(3) Director General o

(4) Chartered Accountants (.0

(5) Question not attemptedg

| #8
Which of the following is not a

personal-level  determinant  of
entrepreneurship ?

(1) Achievement need
(2) Innovation
(3) Type A personality
(4) Locus of control =~
(5) Question not attemptedalt
9
Which of the following is{fibt a
feature of creativity ? (L
(1) Rigidity  (2) Originality

(3) Sensitivity (4) Fluency
(6) Question not attempted

Which type of thinking contributes
to creativity ?

(1) Convergent thinking ~J
(2) Divergent thinking -
(3) Precise thinking o~
(4) Effective thinking

(5) Question not attempted’

refers to the integra&?gn of
economies and societies through the
cross-cultural flows and networks of
information, interaction, ideas,
technologies, goods, services,
capital, finance, power and human
resources.
(1) Nationalization
(2) Modernization
Globalization
Radicalization
Question not attempted
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122.

123.

124,

125.

126.

The term ‘agreement’ is defined
under section of the Indian
Contract Act, 1872.

1) 2(0) @ 26

(3) 2(b) (4) 20)

(5) Question not attempted

Identical offers made by two parties
to each other, in ignorance of each
other’s offer, are known as

1) Counter offer -
2) Cross-offer L)
3) Standing offer D
4) Specific offer 0
5) Question not attempted ,:,:
Which section of the Indian

Contract Act, 1872, describes the
modes of revocation of an offer 7

(1) Section—6 (2) Section- 10
(3) Section-11(4) Section— 16
(5) Question not attempted

Which of the following is not an,

example of invitation to offer ? !

(1) Catalogue or price list 6

(2) Menu card of Restaurant 1,

(3) Prospectus inviting public tm
apply for shares o

(4) Timetable of routine work

(5) Question not attempted

Which of the following is not legal

rule regarding consideration ?

(1) Consideration must move at
the desire of promisor.

(2) Consideration may move from
promisor, ~J

(3) Consideration may move from
promisee. ¢

(4) Executed and  executory
consideration

(6) Question not attempted LL i
. The Indian Contract Act, 1872 came
into force on

(1) First Day of September 1872
(2) First Day of April 1872

(3) First Day of July 1872

(4) First Day of November 1872
(6) Question not attempted
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128.

129.

130.

131.
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27

When the consent of a party is
obtained by ‘fraud’, the contract will
be called as

(1) TIllegal (2) Valid

(3) Void (4) Voidable

(5) Question not attempted

Fixing of minimum rates of wages
comes under which section of the
Minimum Wages Act, 1948 ?

(1) Sec.3 (2) Sec. 7
(3) Sec. 19 (4) Sec. 22
(5) Question not attempted

Ishita agrees to deliver 50 dozen
umbrellas to Vedika on 6t April,
2024. On the said day she failed to
supply 50 dozen umbrellas to
Vedika, here this breach of contract
is known as

(1) Actual breach of contract

(2) Anticipatory breach of contract
(3) Pre-planned breach of contract
(4) Future breach of contract

(5) Question not attempted

Out of the following, by whom a
contract can be performed ?
I. Promisor

II. Agent

III. Legal Representative
IV. Joint Promisors

(1) landIl

(2) III III and IV

(3) II IIl and IV

(4) I I and IV

(5) Question not attempted

. ‘Mental pressure’ is involved only in

Undue influence
Coercion

Fraud
Misrepresentation
Question not attempted

(1)
(2)
(3)
(4)
(5)
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133.

134,

135.

136.

137.

Undue influence

presumed between

(1) Parent/Guardian and child

(2) Exposure of goods by a
shopkeeper to the customer

(8) Doctor and patient

(4) Trustee and beneficiary

(5)

Question not attempted-. |
Which of the following crea s dus in
rem (i.e. gives the right to the buyer to
use the goods as against thd’jgﬁrhole
world including the seller) ?

(1) Sale G
(2) Agreement to sell

(3) Hire-purchase agreement

(4) Contract for work and labour
(5) Question not attempted

Doctrine of ‘Caveat
provides protection to the
(1) Buyer

(2) Seller

(3) Buyer & Seller i
(4) Buyers Organization
(5) Question not attempte&

The term wholesumeneq_a} in
relation to sale of goods meane

(1) That the goods are fit for
human consumption and of
merchantable quality.

That the goods are not of
merchantable quality.

That the goods are suitable for
a particular purpose.

cannot be

Emptor’

(2)
(3)

(4) That the goods are of
merchantable quality as, well
as suitable for a p lar

purpose.

(5) Question not att.empte

Which one of the following ismet the

discharge of contract by operation of

law ?

(1) By insolvency of the party

(2) By death of a party

(3) By novation of contract

(4) By material alteration

(5) Question not attempted
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138, Fau= dmifed= fava & $f4de w=r | 188. In the present boundaryless world,
fag=r Fit Iurcge f= s @ fimedt o the significance of the ‘doctrine of

i Caveat Emptor’is declining due to
(1) Improvement in the living
(1) e & H guR standards
(2) IvvrEETETE | gfe B (2) Growth of consumerism
(3) Increasing the knowledge of
(8) FmEHaAHIMG buyes
(4) e i IEEr H gUR (4) Improvement in the habits of
FEiE buyer
©) " (6) Question not attempted
139, Freffea &4 S Tom wEn AR | 139, Which of the following is not the
t;r qEET AR 8 ? case of ‘Delivery of wrong quantity’ ?
1) I gt (1) Short delivery
(g) Ffefam gueht (2) Excess delivery
(3) it gyt (3) Part delivery
(4) TuPm ggeh (4) Mixed delivery
(5) SHwIE o (6) Question not attempted

140. Frifara 3 & & w1 e ) Wil gadht | 140. Which of the following is an

w1 U IR R 7 exa:dnp'}e of symbolic delivery of
- goods ?
¢ (1) et i siferss gt (1) Physical delivery of TV

() i g0 fea $ s d T (2) Holding goods by a bailee on
o T the behalf of the seller

:'.'__'_'{"ﬁ) Tiverm st =T | ol a T (3) Delivery of keys of a

7 T BN 2 ;?;ehauae containing goods
(4) & WW (4) Delivery by allotment
(6) FHwE ¥ (5) Question not attempted

141, Frifed & & 9 91w e swae g 7 | 141, Which of the following is an implied

|
I
I
I
(1) ST g1 FUYR d S=aad |
I
I
I
I
I

warranty ?
(1) Freedom from charge or
“(2) =R A R encumbrances
§3) T g feasr (2) Iéie;rc:antahle quality
- (3) Sale by sample
I“) N A YO (4) Sale by description
®) S S (6) Question not attempted
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142. Fi=ifea 3 @ 919 & S0t $ gma! &t

143. fraifsa i a s o s sy ad adi 2 7

144. v tEn wieao fran wefae fefeat 6

145, P i d o sy a8 2

faEa st 7

(1) T ke vd oty womsiem
(2) firos v dwd

(3) Wead® U BT

(4) wf¥s " FoEE

(5) Haa WM

(1) U% Yads® HO %1 qifeis T8 8
AT |

UF VA 36 1 H1 TS B T
o g T w2 |

U W 39 R 1 = T A

(2
3
4)

r3EcEdcroe ok g kccn b SR

TF VEdH H1 W FHAT F WY
fvamaia g9y g 2 fomew =2
TE HATR |

(5) I 5

UE HYAT geq @ wafun qff Seen

(Feraron) =t #reft 2, weermar 2

(1) 9% 9= (Shelf prospectus)

(2) "F1 BHT WEEW  (Deemed
prospectus)

(3) dferm  wfyEm
prospectus)

(4) wEEt wfgswr  (Red  herring

(Abridged

prospectus)

(5) eI 5 |

(1) mmﬁaﬁmﬁﬂm%mﬁ#'
Freemes &9 =fie |

T HEAE HEH F aﬂﬁ&ﬂ
mwﬁwmmg

T% HEARS AT ® afhamrr
e F g H wE AR 2 | |
ﬁwréaﬁa;m:ﬁamahﬁaﬂl
Gler & fou w9 a?ti
e T S Ewd R | |

FFTRE WA

(2)
(3)
4)

(5)

30

142. Which of the following controls the

143.

144.

| 145.

affairs of a company ?

(1) An Auditor and Legal Advisor
(2) An Underwriter and Bankers
(3) Promoters and Directors

(4) Secretary and Creditors.. |

(6) Question not att.emptar.l{

Which of the following m nat a

correct statement ?

(1) A promotor cannot E& the
owner of the company.

(2) A promotor can be agent of the
company which he promotes.

(3) A promotor is not a trustee of

the company which he intends

to promote.
(4) A promotor stands in a
fiduciary relation to the

company which he forms.
() Question not attempt-ed‘

A prospectus which does mﬁ have
complete  particulars un(h the
guantum or price of the aaqi_;,gitiea
offered is known as

(1)
(2)
(3)
(4)
(8)

Which of the following is not ;F‘true

statement ?

(1) A public company shnult.’rlmve
at least three directors. _ .

(2) There must be at least seven

members to start a ‘public

company.

There is no limit on the

maximum number of members

in a public company.

A public company cannot

invite the general public for

subscribing shares of the

company,

Question not attempted

Shelf prospectus
Deemed prospectus
Abridged prospectus
Red herring pmapeétus
Question not attempted

(3)

(4)

(5)
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146, FrfFa i a s s syF wdi 7di & 7
(1) = ey s @ Faff & 9

TEEAR |

T wE A U A afis wEe

FRys giasd € |

Ty s s S d i #

w9 H 1 S R |

yay frws, s avsw =

S g AR |

(5) FgwRa W=

147. wHa # v Fer (ghand gfar ahasen =t
Brest) g0 s0ga 3w few siftwan
Ity & fore friw frmr s s 2 2

D 10 9% (2 1598
“(8) 2094 (4) aifE aEfy
'3_-"'{51 FFia S -

lmmﬁmmmmwmﬁ
B d _ fi % g smwm @ S
1Y |
(1) 62
(3 30
(5) 3w S

149: T, () A/ F R 7
:.,(1} FHaweg Ut gro anfda afemfa
(2 ¥ it g s dart
L)  rewg Tt g wE IR
“(4) & uft % fere whE ol

(5) Irwiea e

(2)

(3)

e

)

45
7

(2)
(4)

146. Which of the following is not a
correct statement ?
(1) A Managing Director is not
eligible for reappointment.

(2) There can be more than one
Managing Director in a
company.

(3)
(4)

A Managing Director works as
a C.E.O. of the company.
Managing Director is sub-
ordinate to the Board of
Directors.

(6) Question not attempted
147. What is the maximum period for
which preference shares can be
issued by a company (except
infrastructure projects) in India ?
(1) 10 years

(2) 15 years

(3) 20 year

(4) Unlimited period

(6) Question not attempted

148. Dividend declared by a company
must be paid within from the
date of declaration.

(1) 62 days (2) 45 days

(3) 30 days (4) 7 days

(5) Question not attempted
149, What is the full form of ‘ASBA' ?

(1) Asset Supported by Blocked
Amount

(2) Application Services by Bank
Authorities

(3) Application Supported by
Blocked Amount

§4) Active System for Better Amount

5) Question not attempted

150, 39t &% T I8 F4 & T4 Aad T9a- I 150, The time-lag between two buy-
R BT SR - | backs of shares shall be at least
(1) 3=d (2) 294 | (1) 3years (2) 2years
(8) 199 (4) 6WE | (3) 1year (4) 6 months
(6) W@ T | () Question not attempted
70 31 =]
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